MATH 101 (141)

Practice Test

Q1. Find
. 11—z
lim —————
=12 — /2243
Q2. Find
. 3x+2—2cosx
lim -
z—0 6sinzx

Q3. Evaluate the following limit

2
—4
lim |2 |

z—2- 4 — g2

Q4. Find a nonzero value for the constant k that makes f(x) continuous at x = 0, where

tankxj r <0

flz) = { 3r+2k2, x>0

Q5. Show, by using the squeezing theorem, that

lim 2% cos — =0
z—0 €T

Q6. Let

33—z 2 +1
— 3.
/@) 3+x+\/x2+4+

Evaluate lim, ., f(2)

Q7. Let p(z) = =327 + 52? + x — 10. Find lim,_, ., p(z)

Q8. Given e = 0.001 and f(z) = 524, let L = lim,_, 4o f(2). Find a positive number N

such that |f(z) — L| <eif 2 > N.
Q9. Use the € — § definition to prove that lim, 4 vz +5 =3
Q10. Evaluate

sin? 3x

lim —
z—0 sin”“ bx




